XYZ,=95.04 , 100.0 , 108.89 Y=Y-50

azo[(x )19
bz bylz/y
=1, b,y =04

X, = 0,110, B, = 0,800

Crar=AS+B1™2

6 OstwaldFarben (o)

von maximalem (m)C,g im

linearen Farbenraum (Cyg . -~

Lichtart DB5, Y,,=100, Y, =0 s, @1

Name Bereih X, Vi 7, A vy A A
567775507 3803 026 0.6092'0.388 596 480

R

a
Y, 4937757715 94.26 6.95 0.4325 0.5284 570 463
G, 493567 1764 56.43 6.9 02178 0.6968 535 535¢
C, 380_567 35.53 6216 108.840.172 0.3009 489 596 Parameter:
B 380 4931808 593 102150.1433 0.047 463 570 Y & Name
M, 567_493 7759 43.76 1022 0.347 0.1957 535c535 f

, 567 1
W, 380_775 9504 100.0 108.890.3127 0329  100% Lichtart D65
N, 380775000 01 01 0812603289 0% Y,,=100 Y,=0
Z, 380 775171 180 196 031270320 18%
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